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Test 1

Part A (1—30)

1.

A.

So®P» DO

o0 F >

L

Wash his red T-shirt again.
Buy new white socks.
Throw away his pink socks.

. Use bleach on his socks.

. The woman should cut his hair again.

He’s bald and doesn’t need a haircut.
He wants the woman to cut his hair extremely short.
The woman previously cut off too much of his hair.

The area in front of the window is too cold for plants.
Plants rarely do well in the dormitory.

The plants may need more light.

The plants should get less water.

The tickets have already been sold out.
They will probably not be able to get the ticket.
They have to wait for a long while to get the ticket.
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D. They have to wait fifty minutes before they get the ticket.

He expects to hear from his brother.
He bought a present for the woman’s birthday.
The woman is wrong about when his birthday is.

LI

His brother is coming to visit him.

The woman didn’t buy a sweater for Debbie.

The sweater the woman bought doesn’t fit Debbie.
The woman forgot Debbie’s birthday.

The woman didn’t know what Debbie wanted.

o0 F >

She’s had to eliminate coffee from her diet.
She’s already prepared the coffee.

She has to take her medicine first.

S0 ® >

She doesn’t like coffee anymore.

The store is out of coffee.
They should buy a lot of coffee.
They should wait for a better deal on coffee.

°ONn % »

There’s room to stack up the cans of coffee.

Watch for the ad on television.
Return his suit to Conrad’s.
Wait until the sale is over.

°0® >

Buy a new suit.

10. A. She doesn’t know the postage for a package to Australia.
B. She’ll help the man wrap the package.
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12.

13.

14.

15.

16.
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o0® >

° 0>
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She has relatives in Australia.
She plans to send a package to Canada.

. The man may have to reschedule his trip.

The man should take his vacation somewhere else.
She hasn’t called the travel agent yet.
She doesn’t know when her semester ends.

. He has to go home to feed his pet.

He must keep an appointment with his doctor.
He’s expecting Cindy to arrive soon.

. He doesn’t want to go to Cindy’s.

. She doesn’t want to waste her film.

She doesn’t know how to use the camera.
She already took a picture of the mountains.
She doesn’t have any more film.

. Betty is taking her to the concert.

The man could probably go with Betty.
She has already been to the concert.
Betty might be leaving earlier than she is.

. He won’t be able to help the woman.

The library is closed tonight.
He doesn’t know how to get to the library.
Jean is using his car.

. Her car is being repaired right now.
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18.

19.

20.

21.
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B.

C.

She prefers to go to the supermarket near the school.
She doesn’t need anything from the supermarket.

D She wants to go shopping with the man.

® >

SOo®P» OUOAEPP ON®P> OO

O0® >

. She forgot to change the battery inside the camera.

She doesn’t bring her camera along.

. Her camera breaks down now.

. She doesn’t want to lend the camera to him.

. Find out how much the novel costs.

Ask Alice if -the man can borrow the novel now.

. Return the novel to Alice immediately.
. Help the man find his own copy of the novel.

. She doesn’t know where it is.

She’d like the man to return it by tonight.
She expects the man to have it.

. She’s angry with the man for forgetting it.

. He can’t lend the woman any money.

The woman doesn’t need a new book bag.

. His paycheck is late.
. The book bag is too expensive.

. Take the man to the bank.

Ask the man when he’ |l be paid.

:Lend the man some money.

Ask the man to write her a check.
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23.

24,

25.

26.

27.
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She’d like the man to repeat what he said.
She wants to know what happened to the man.
She’s willing to help the man.

She’s sorry that she injured the man.

. The seminar would begin in August.

The man would attend the seminar.
The daie of the seminar wasn’t set yet.
They would go together on August 21st.

She’s already been to the exhibit.
She wanted to get tickets for everybody.
She’ll try to get tickets after work.

. She had difficulty getting tickets.

The textbook is now with Mike.
The textbook is lost.
The man can have her textbook.

. She will lend the man the textbook in a couple of

days.

. She can’t lend the man the dictionary until later.

She has only finished half of the essay.
The dictionary belongs to someone else.

. The man can have the dictionary for thirty minutes.

. The man should hold the party with Meg.

The man could use her room on Sunday.

. Meg will go downtown this weekend.
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29.

30.

32.

33.
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D.

SOFP PO®>

o0 w® >

She will stay with them for the surprise party on Sunday.

She thinks the man is too slim.

She believes the man will get hurt.

She suggests that the man apply for it.

She trusts that very few people have applied for it.

. 1t would be better to choose more.

Three people have taken the course.
The man should attend the class at three.
Four courses may be too many.

He will go to the conference center with the woman.
Bob can give her a ride.

The conference has been on for half an hour.

He will drive Bob’s car to the conference center.

B (3—-3%
It’s already full.
It’s only offered in the morning.
1t’s only open to poetry majors.
It requires another class first.

He has another class at the same time.
He’s already familiar with the material.
The class meets during his working hours.
The class is too far away.

. He wants to work the same schedule as his friends.
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He likes to do his homework in the evenings.

. All the other work schedules conflict with his

classes.
He doesn’t want to ask his boss for another favor.

The class size is smaller.

It may offer the class he needs during the day.
Its courses cost less.

It has a pool.

A class that the woman is taking.

A job possibility.

A chemistry assignment.

A study that their chemistry professor did.

She’s interested in becoming a psychology major.
She wants to earn extra money.

She wants to quit her job in the chemistry lab.
She wants to get practical experience.

. Help them with their studies.

Pay them for participating in the study.
Employ them as lab assistants.

. Teach classes at their high school.

Interview some high school students.
Finish their chemistry experiment.
Write their lab reports.

Find out Professor Smith’s schedule.
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Phurt © 39—50)

39. A. To make use of the latest technology.
B. To display newly acquired fossils.
C. To create space for a temporary exhibit.
D. To reflect changes in scientific theory.
40. It was the largest dinosaur.
Its tail usually dragged on the ground.
It had aggressive tendencies.

90w >

It is connected to modern birds.
41. They lived in a hot, humid climate.
They are from the same time period.
They share similar physical traits.

OO0 ">

They ate only water plants.
42. A. According to what they ate.

According to when they lived.

According to their size.

According to the region of the world they lived in.

onw®»

43. A. How birds’ nests have evolved.
Why some birds’ nests are considered primitive.
. How birds learn to build nests.

Why birds lay eggs.

OO0 ™ >

. They began to lay eggs.
B. They changed their migration patterns.
C. Their flying ability improved greatly.

>

44.



45.

46.

47,

48.

49.

50.
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They became warm-blooded.

On the highest branches of trees.
Inside tree trunks.
On the ground.

In cold places

. A nest of twigs and branches.

A primitive type of nest.
An elevated nest.
A typical cup-shaped nest.

To have a better view of predators.
To save labor.
To avoid predators.

. To expose the eggs to stronger sunlight.

They need little experimentation.
Their cost is very cheap.
They can be used in many countries.

Their source is plentiful.

. It causes winds to turn a windmill.

it warms up the land along the coast.
It gathers heat from the sun.
It pushes a turbine in a dam.

. Changing the wave pattern.

Polluting the water.

s 9
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C. Slowing down the Earth’s rotation.

D. Harming the coastline.
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Pt A a-30)

1. A

NP

4. A,

B.

C.

On®»

OO0 ® >

Wait until the pants are on sale.

Look at pants made of o different material.
Look for the pants in a different color.

Buy the pants the woman showed him.

. She usually doesn’t borrow clothes from Jill.

The style of the sweater she’s wearing is very common.
She wore the sweater for the first time yesterday.
The man saw Jill wearing the sweater.

. The rock concert will probably be rescheduled.

There will be extra tickets at the rock concert.
Each person will be allowed to buy only one ticket.

. The tickets will sell out quickly.

He was able to sell the tickets for the woman.
He doesn’t mind buying the tickets.
He’ll pay the woman earlier.
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D.
5. A.
B.
C.
D.
6. A.
B.
C.
D.
7. A
B.
C.
D.
8. A
B.
C.
D
9.

D0 %>

He hopes to see the woman on Friday.

The man can ride downtown with her.

The man will have to leave earlier than usual.
She can’t give the man a ride.

She’ll drop the man off on the way to work.

Someone already borrowed her newspaper.

She hasn’t had time to read the newspaper yet.
She’ 1l get the newspaper back from the man later.
She can’t lend the man the newspaper.

Her cousin is coming to the barbecue too.

The man should bring his cousin to the barbecue.
The barbecue is going to be very crowded.
She’s sorry the man can’t come to the barbecue.

He met the man at the party.
He has changed his plans.
He has to work late.

. He’ll go to the party with the woman.

She had to try several times to get her call through.
She didn’t understand the caller’s message.
She didn’t get to the phone on time.

. She forgot to write down the message.

10. A. Laura’s address probably appears in the telephone

directory.



